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Section-A 

   Analysis Skills  

Q1) a) Read the following passage and answer the questions that follow. [5 ×  1 = 5] 
   It is the mad usage for speed that is responsible for many motor accidents. Only last 

year I witnessed what might have been a fatal accident on the Kashmir road. I was 
motoring down from Srinagar and came upon the wreckage of two cars on the road. 
The smash had been caused by a car coming down, which swept round a sharp corner at 
forty miles an hour and crashed into a car coming up. Thankfully no one was killed but 
several were badly injured. 
i) Why do many accidents occur? 
ii) Where did the writer witness the accident? 
iii) What caused the accident? 
iv) What was the effect of the accident? 
v) Give the antonym for, ‘sharp’? 

 b) Read the following passage and answer by choosing the right answer. [5 ×  1 = 5] 
  Of course, I am honest and a hard worker. In the very second week, I had made more 

sales than the previous salesman had made during any week. Maybe because it was the 
week before diwali when more saris are bought. Or it could have been due to my 
salesmanship. Anyway I had good reason to be satisfied with the way things were 
going. That was how it was until this morning. I was beginning to have rosy dreams of 
getting married and settling down in mumbai, which is a good place for a refugee from 
punjab. 
1) Who is ‘I’? 

i) Customer    ii)  Salesman 
iii) Boss     iv) Previous salesman 

2) The speaker made more sales than 
i) The boss    ii)  The boss’s wife 
iii) The  previous salesman  iv) Customer 

3) The salesman made more sales because 
i) Of diwali    ii)  The salesmanship of the salesman 
iii) The variety available   iv) Diwali season and salesmanship 

4) The salesman was _____ with his job. 
i) happy    ii)  Unhappy 
iii) Satisfied     iv) Proud 

5) The speaker belongs to 
i) Mumbai    ii)  Delhi 

   iii) Punjab     iv) None of the above 



 

Q2) a) Correct the following sentences: [5 ×  1 = 5] 

1) Why you are not writing? 
2) Either you or your sister are to attend the meeting. 
3) The gold is very expensive 
4) Where is the scissors? 
5) One should put his belongings in the room. 

 b) Rewrite as directed.  [5 ×  1 = 5] 

  1) Suraj rang the bell.(change the voice) 

  2) He went for the party (Add a question tag) 

  3)  She said, where do you stay? (change into indirect speech) 

  4) He is honest though poor. (change into a compound sentence) 

  5) Veeru is the strongest man in the village.(change to positive degree) 

 c) Change into direct speech: [5 ×  1 = 5] 

  1) Seema said that she was going for a movie 

  2) Raj told me to pass the book. 

 d) Fill in the blanks with correct forms of verbs given in the  [5 ×  1 = 5] 

  1) He _____ (drink) soup every day. 

  2) They _____ (buy) a basket of mangoes. 

  3)  When he _____ (run), he fall down. 

  4) I _____ (listen) carefully to what he said. 

  5) The baby _____ (cry) since morning. 

 e) Fill in the blanks with suitable words given in the end. [5 ×  1 = 5] 

  1) He _____ everyone with his performance 

  2) Rocky _____ the murder of his sister 

  3)  God _____ our every need 

  4) Reena _____ me a cup of tea. 

  5) He _____ everyday 

   (avenged, exercises, brought, mesmerized, S) 

 f) Rewrite the following set of jumbled sentences to make a wherent passage. [3] 

  1) She lived in Mumbai. 

  2) Her children helped her in the business. 

  3)  She shared the profits with them. 

  4) Mrs. Raj was an elderly lady. 

  5) There she ran a cloth business. 

 g) Write three exchanges of dialogue between a customer who comes to a lodge to stay for 
three days and the receptionist there. [3] 



  

 h) Write a paragraph using the following hints. [3] 

  Poor villager – educated son – son gets a good job – neglects father – gets involved  

  in corruption – loses job – comes home –father consoles – son repents. 

 i) Write in about 100 words on any one of the following. [3] 

  1) Social media-curse or born? 

  2) Fast food and lifestyle diseases 

  3)  Climate change and its impact 

 

Section-B 

        Descriptive Skills 

 

Q3) Write an essay on One of the following. [5 ×  1 = 5] 

a) Bring out the humour in R.K. Narayan’s ‘A snake in the grass’. 
b) How does ‘Letter to India’ reveal a father’s love for his daughter. 
c) Justify the title, ‘Blood, Tail, Tears and sweat. 
d) Bring out the humour in, ‘A marriage proposal’. 

Q4) Write short notes on any three of the following. [3 ×  3 = 9] 

a) What are the reasons the poet gives to laugh and be merry? 
b) What inspects of science does the poet bring out in ‘sonnet-to science’? 
c) What is the central theme of piano and drums? 
d) Summarize the poem, ‘The express’. 
e) Justify the title, ‘The tables turned’. 

Q5) Write an essay on One of the following [1 ×  4 = 4] 

a) What doe Tolstoy’s story reveal about the character of God? 
b) Bring out the appropriateness of the title, ‘The gold watch’. 
c) Narrate the hardships faced by the old refugee. 

 Q6) a) Explain any two of the following [1 ×  4 = 4]  

1) “Do you charge five shillings for everything”? 
2) “I hope your law is better than your rowing.” 
3) “Deepak was about any fifth name”. 

 b) Explain any one of the following [1 ×  4 = 4] 

1) Small is the worth of beauty from the light retired. 
2) God made heaven and earth for joy.  
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Q1) D “Mìü…¨ Ðé°ÌZ JMæü ç³§éÅ°Mìü {ç³† ç³§éÆæÿ® ™é™èþµÆ>ÅÐ@þ¬ {ÐéÄ¶ý¬Ð@þ¬  [6] 
  a) Ñç³È™èþ {ç³†¿êçÙ ÌôýÑ$sìýMìü ¯@þ$ÈÓ¯é£æþ ÆÿÊ ç³#{™èþV> 
   {™èþ ç³ÇçÙÓ…Væü çÜ$Q…º$— õÜMö¯@þ$Ð@þ¬— Ð@þ¬M>¢çàÆæÿ MæüÆæÿ*µÆæÿ Ýë… 
   {§æþ ç³Æ>Væü {ç³çÜÆæÿ…º$ f…§æþ¯@þÐ@þ¬ f…{§æþ gZÅ™èþÞü²Ä¶ý¬… º${™èþV> 

   {™èþ ç³ÇçÙÓ…VæüÐ@þ¬¯@þr$Ï iÐ@þ#ËMæü$ çßý–§æþÅ…»ôý Mæüyæþ$¯Œþ Ö™éÐóþ$! 
  b) Ð@þÆæÿÐ@þ¬¯@þ º$sìýt†¯Œþ ¿¶ýÆæÿ™èþ Ð@þ…Ô¶ýÐ@þ¬ gŸ_a™èþ ¯@þ…§æþ$ »ê…yæþ$ ¿¶ý* 
   Ð@þÆæÿ$¯@þMæü$ VøyæþOÌñý† f¯@þÐ@þ…§æþ$ÅË »Ÿ…¨† ±† Ñ“MæüÐ@þ$ 
   íÜ¦Ææÿ$ËVæü$ ç³#{™èþ$Ë… ºyæþíÜ†¯Œþ çÜçßýf¯@þ$ÃË {́ ùç³#V>…_†¯Œþ 

   çÜÆæÿíÜf¯é¿¶ý! Æÿ¬°²r {ºÔ¶ýíÜ¢Mìü ¯ðþMìüP¯@þ §é¯@þ ¯ðþ…™èþÄ¶ý¬¯Œþ 
 

 

Q2) D “Mìü…¨ Ðé°ÌZ ‘A’ ¿êVæü… ¯@þ$…yìþ Æðÿ…yìþ…sìýMìü, ‘B’ ¿êVæü… ¯@þ$…yìþ Æðÿ…yìþ…sìýMìü çÜ…§æþÆæÿÂ çÜíßý™èþ ÐéÅQÅË$ 
  {ÐéÄ¶ý¬Ð@þ¬.    [4 ×  2 = 8] 
              A & ¿êVæü… 

  a)  Csìýt ÌZMæü ÑÆæÿ$§æþ®…º$Ë MóüÐðþ*yæþ$§æþ$Ð@þ¬. 
  b) GËÏ ÐéÇMìü §æþ$]Q Ñ$sìýt§æþ M>§ðþ 
  c) Mæü‚ ýÑ“MæüÐ@þ$…º$— V>Ëµ̄ óþ? 
  d) H¯@þ$Væü$ ¨¯@þ² ÐðþËVæüç³…yæþ$ ¯éVæü¯öç³š 
               B & ¿êVæü… 
  a)  MæüÑ™èþ MøÆÿ¬Ë ç³Ë$Mæü Ð@þÌñý¯øÄŒý$ 
  b) ^éÐ@þÌôý§æþ$ B…{«§æþ$Ë Ð@þ$çßZfÓË ^èþÇ{™èþ 
  c) Ð@þ$¯@þÃ¯@þ…º$ ÝëÓ™èþ…{™èþÅ ïÜÐ@þ$Mæü$— fÇ…^èþ$ 
  d) ¿êVæüÅ Ñïßý¯@þ$Ë „æü$™èþ$¢ÌêÆÿ‚ $¯óþ? 
 

Q3) D “Mìü…¨ Ðé°ÌZ ‘A’ ¿êVæü… ¯@þ$…yìþ JMæü §é°Mìü, ‘B’ ¿êVæü… ¯@þ$…yìþ JMæü §é°Mìü ÐéÅçÜÆæÿ*ç³ çÜÐ@þ*«§é¯@þÐ@þ¬ 
{ÐéÄ¶ý¬Ð@þ¬. [2 ×  6 = 12] 



        A & ¿êVæü… 
  a)  Ô¶ýMæü$…™èþË «§éÇÃMæü {ç³çÜ…VæüÐ@þ¬ 
  b) »ñýfjÐ@þ$à§óþÑ ™èþÍÏV> _{†…ç³ºyìþ¯@þ Ñ«§æþÐ@þ¬ 
        B & ¿êVæü… 
  a) †MæüP¯@þ {§úç³¨ ´ë{™èþ¯@þ$ _{†…_¯@þ ¡Ææÿ$. 
  b) ‚ ¯@  MæüÑ™é ÑÔóýÚëË$ ™ðþËµ…yìþ. 
 

Q4) D “Mìü…¨ Ðé°ÌZ ‘A’ ¿êVæü… ¯@þ$…yìþ JMæü §é°Mìü ‘B’ ¿êVæü… ¯@þ$…yìþ JMæü §é°Mìü çÜÐ@þ*«§é¯@þÐ@þ¬  
  {ÐéÄ¶ý¬Ð@þ¬. [2 ×  6 = 12] 
        A & ¿êVæü… 
  a)  §óþÔ¶ý¿¶ýMìü¢ MæüÑ™èþÌZ {ç³gêíßý™èþ A…Ô>Ë$ 
  b) Æ>Ä¶ý${́ ùË$ ¯@þ$†…_¯@þ B…{«§æþ ™óþfçÜ$Þ Gsìýt¨? 
       B & ¿êVæü… 
  a)  Æ>Ñ$Æðÿyìþz Mæü–ïÙÐ@þË$° MîüÇ¢…_¯@þ Ñ«§æþÐóþ$¨? 
  b) AÆæÿ$…«§æþ¡ çÜ$™èþ$° “Ô¶ýÐ@þ$Ô¶ýMìü¢ 
 
Q5) D “Mìü…¨ Ðé°ÌZ Æðÿ…yìþ…sìýMìü çÜÐ@þ*«§é¯@þÐ@þ¬ {ÐéÄ¶ý¬Ð@þ¬. [2 ×  6 = 12] 
  a)  C…¨Ææÿ ´ë{™èþ _{™èþ×ý 
  b) A¯@þ…§æþÆ>Ð@þ# 
  c) ¯@þÐ@þÌê Ë„æü×êË¯@þ$ ™ðþÍí³ M>Ìê¡™èþ Ð@þÅMæü$¢Ë$ ¯@þÐ@þËMæü$ çÜÐ@þ$¯@þÓÆÿ¬…^èþ…yìþ. 
  d) M>Ìê¡™èþ Ð@þÅMæü$¢Ë$ ¯@þÐ@þË ¯éÐ@þ$ ÝëÆæÿ®MæüÅ™èþ¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 
 
Q6) D “Mìü…¨ Ðé°ÌZ I¨…sìý° Ñyæþ©íÜ çÜ…«̈  M>ÆæÿÅÐ@þ¬Ë$ {ÐéÄ¶ý¬Ð@þ¬. [5 ×  2 = 10]   
  a)  «§æþÆ>«¨¯é£æþ$Ë$ b) «§æþÆóÿÃ™èþÆæÿ$yæþ$ 
  c) ™èþ´ù«§æþ¯@þ$Ë$ d)  ÑçÜÃÄ¶ý$Ð@þ$…§æþ$ 
  e) AMæü$PÐ@þ*Ææÿ$yæþ$ f) HÍ^èþ$a 
  g)  A…™èþ…™èþ h) A¯@þ²§æþÐ@þ¬ÃË$ 
  i) EMìüPÐ@þç³#Væü† j)  Ððþ¯@þ²Ððþr$t 
   
Q7) D “Mìü…¨ Ðé°ÌZ I¨…sìý° Ñ“Væüçßý ÐéMæüÅÐ@þ¬Ë$ {ÐéíÜ çÜÐ@þ*çÜÐ@þ¬Ë¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. [5 ×  2 = 10]  
  a)  Mø´ëÆæÿ$×ìý™èþÐ@þ¬ b) çßýÆæÿÛç³#ËMæüË$ 
  c) Ðóþ§æþÐ@þ^èþ¯@þ…º$Ë$ d)  f¯@þ¯é£æþ$yæþ$ 
  e) A¯@þ$_™èþ…º$Ë$ f) Ð@þ$à¯@þ…§æþÐ@þ¬ 
  g)  ™èþ´ù«§æþ¯@þ$yæþ$ h) V>…«§æþÆæÿÓ Ñ«̈  
  i) Væü–çßý±† Ñ§æþÅ j)  «§æþÆ>ÃÆæÿ®Ð@þ¬Ë$ 
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    Answer the following  

 

Q1) a) Explain in brief the Glory of the Kavya of Valmiki? (3 × 8 = 24) 

   dmë‘rHo$ : H$mì¶gwf‘m§ g§jonoU {bIV? 
OR / AWdm 

  b) Explain the Qualities of scholors as described by Noble Vidura? 
   {dXþaZrVm¡ à{Vnm{XVm{Z npÊS>VbjUm{Z {dd¥UwV? 
 

Q2) a) Describe the words of the companion of Parvathi to the celibate?  

   nmd©Ë¶m: gIr O{Q>b§ à{V {H$‘wdmM dU©¶V²? 
OR / AWdm 

  b) Explain the help rendeved by Rajavahana to the Brahmin? 
   amOdmhZH¥$Vm§ {ÛOmonH¥$Vt {deX¶V? 
 

Q3) a) Describe the six reasons as persoriabed in the lesson?  

   nmR²>¶^mJ‘Zwg¥Ë¶ fS>yVyZ² dU©¶V? 
OR / AWdm 

  b) Write the story of “Mritojjeevanam”? 
   ‘¥VmoÁOrdZ§ Zm‘mon»¶mZ§ {bIV? 
 
Q4) Answer any four (4) of the following  with reference to context. (4 × 3 = 12) 
  ‘MËdm[a’ ggÝX ª̂ ì¶m»¶mV& 

a) C{XVm: erbd¥Îmmä¶m§ ‘hf©¶ Bdm‘bm:& 
b) ZjÌmUrd MÝÐ‘m:& 
c) {ZpÝXVm{Z Z godVo& 
d) ‘Zr{f{^: gmánXrZ‘wÀ¶Vo& 
e) Z aËZ‘pÝdî¶{V ‘¥½¶Vo {h VV²& 
f) AmñdmX¶Vmo gwI‘mÝnwdpÎm& 
g) AmË‘mW} n¥{Wdt Ë¶OoV²& 
h) bmoHo$ XþO©ZH$ÊQ>H$mo ZmpñV& 

 



Q5) Translate any two into English or Telugu : (2 × 3 = 6) 

  Ûo AmÝY«̂ mfm¶m§ dm Am§“b^mf¶m§ dm AZwdmXV& 

  a) AmË‘kmZ§ g‘maå^pñV{Vjm Y‘©{ZË¶Vm& 

   ¶‘¶m© ZmnH$f©pÝV g d¡ npÊS>V CÀ¶Vo&& 

    

  b) VËdk: gd©̂ yVmZm§ ¶moJk: gd©H$‘©Um‘²& 

   Cnm¶kmo ‘Zwî¶mUm§ Za: npÊS>V CÀ¶Vo&& 

   

  c) A{‘Ì§ Hw$ê$Vo {‘Ì§ {‘Ì§ Ûo{ï> {hZpñV M& 

   H$‘© Mma^Vo Ñï>§ V‘mhþ‘y©T>MoVg‘²&& 

    

  d) lmÕ§ {nV¥Ï¶mo Z XXm{V X¡dVm{Z ZMmM©{V& 

   gwhÿpÝ‘Ì§ Z b^Vo V‘mhÿ‘y©T>MoVg‘²&& 

  

Q6) a) Write the forms of any three in the other numbers of the given persons. (3 × 2 = 6) 

   Ì¶mUm§ ÎmÎm„H$maoofw YmVwénm{U {bIV& 

1) A^dV² 
2) J{‘î¶{V 
3) ‘moXVo 
4) {Vï>oV² 
5) Ab¶V² 
6) ^m{fî¶Vo 
7) {dVa{V 
8) Ðú¶{V 

  b) Decline any four as per the case ending. (4 × 2 = 8) 

   ‘MVwUmª’ VÎm{Û^{º$fw eãXê$nm{U {bIV&  

1) Xodm¶ 
2) H$dm¡ 
3) ^mZw‘² 
4) {nÌm 
5) Jdm 
6) a‘m¶m: 
7)  ‘Ë¶m‘² 
8) VÝdm 



  c) Combine any four sandhi’s. (4 × 2 = 8) 

   ‘MËdm[a’ gÝYÎm&   
1) h[a + BÀN>m 
2) Vd + Bd 
3) VWm + Ed 
4) B{V + AÌ 
5) Vm¡ + AÌ 
6) VV² + M 
7) nX² + ZJ: 
8) VV² + A{n: 

  d) Dissolve any three : (3 × 2 = 6) 

   Ì¶mUm§ {dJ«hdm³¶m{V {bIV& 
1) g‘j‘² 
2) nyd©H$m¶: 
3) ŷV~{b: 
4) grZmn[V: 
5) AY‘©: 
6) ZrbmoËnb‘² 
7) KZí¶m‘: 
8) fÊ‘mVwa: 

��� 
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SECTION – A 

 

Q1) {H$Ýht VrZ H$s gÝX ©̂ g{hV ì¶m»¶m H$s{OE& (3 × 3 =9) 
a) ZB© ~mVm| go K~amZm Am¡a CZHo$ njnm{V¶m| H$s qZXm H$aZm ‘Zwî¶ H$m ñd^md hmo J¶m h¡& 
b) qMVm H$mo bmoJ {MVm H$hVo h¢& {Ogo {H$gr àM§S> qMVm Zo nH$‹S> {b¶m h¡, Cg ~oMmao H$s qOXJr Iam~ 

hmoVr h¡&  
c) “Amn boIH$ hmo Am¡a ‘oh‘mZ ZdmO àH$meH$ hmo Vmo g‘P br{OE& XmbXmH$ H$s ny{S>¶m|, Am¡a H$Õo 

H$s VaH$mar {Ibm H$a dh Amn go ‘wâV boI {bImZm MmhVm h¡, Bg H$mb Ho$ A{V{WgËH$ma go 
~«m÷U gmdYmZ&” 

d) ZB© gä¶Vm Ho$ Bg g§H«$m§{VH$mb ‘| ^maV df© AnZm g§VwbZ Imo Xo, dh C{MV Z hmoJm& 
e) Og Må~H$ H$m OmX bmh na hmo MbVm h¡ dg hmo& Bg OmX H$mo ^r ‘¶m©Xm h¡& 

  
SECTION – B 

 

Q2) {H$gr EH$ nmR> H$m gmam§e {deofVmAm| g{hV {b{IE& (10) 

  a) ^maVr¶ gm{hË¶ H$s EH$Vm& 
  b) H${d Am¡a H${dVm& 
 

Q3) {H$gr EH$ nmR> H$m gmam§e {deofVmAm| g{hV {b{IE& (10) 

  a) B©î¶m© Vy Z J¶r ‘oao ‘Zgo& 
  b) A{V{W&& 
 

Q4) {H$gr EH$ H$hmZr> H$m gmam§e {deofVmAm| g{hV {b{IE& (10) 

  a) CgZo H$hm Wm& 
  b) amoO& 
 

Q5) a)  AmnHo$ {nVm H$mo ê$n¶o ôOZo Ho$ {bE nÌ {b{I¶o& (10) 

(AWdm) 
  b) qhXr àmÜ¶mnH$ Zm¡H$ar Ho$ {bE, àYmZmÜ¶mnH$ Ho$ Zm‘ na EH$ AmdoXZ nÌ {b{IE& 



 

 
Q6) {H$Ýhr Xmo àíZmo§ H$m Odm~ Xg n{º$¶m| ‘| {b{IE& (2 × 3 = 6) 

  a) ‘Yy{bH$m H$m M[aÌ-{MÌU H$s{OE& 

  b) ‘R>mH$wa H$m Hw$Am±’ H$hmZr H$m erf©H$ H$s gmW©H$Vm na àH$me S>m{bE& 

  c) ‘Mr’$ H$s XmdV’ H$hmZr H$m ³¶m CÔoí¶ h¡? 

  d) ‘‘mbVr’ H$m M[aÌ {MÌU H$s{OE& 

  

Q7) g~ àíZm| H$m CÎma {bIZm A{Zdm¶© h¢& (10 × 1 = 10) 

  a) Zm¡H$a AmO Nw>Å>r na h¡& (‘{b§J’ ~XbH$a {b{IE&) 

  b) AmO H$mboO H$s Nw>Å>r h¡& (‘dMZ’ ~XbH$a {b{IE&) 

  c) h‘ {hÝXr grI|Jo& (dmÀ¶ ~XbH$a {b{IE&) 

  d) ‘mohZ nmR> n‹T>Vm h¡& (^{dî¶ H$mb ‘| {b{IE&) 

  e) grVm nmR> {bIVr h¡& (VmËH$m{bH$ dV©‘mZH$mb ‘| {b{IE&) 

  f) Jm±Yr Zo ^mfU {X¶m& (H$maH$ H$m Zm‘ {b{IE&) 

  g) JmoqdX AmO g^m ‘| ~mobZm Mm{hE& (ewÕ H$s{OE&) 

  h) am‘ go Mbm Zht OmVm& (dmÀ¶ ~XbH$a {b{IE&) 

  i) grVm Ho$ n{V H$m Zm‘ am‘ h¡& (H$maH$ H$m Zm‘ {b{IE&) 

  j) Postman (Bg eãX H$m AW© {hÝXr ‘| {b{IE&) 

   

Q8) {H$Ýht Xmo eãXm| H$m AW© {hÝXr ‘| {bIH$a dm³¶m| ‘| à¶moJ H$s{OE& (2 × 2½ = 5) 

a) Aga 
b) AZmoIm 
c) ImgH$a 
d) H$X¶© 
e) ’w$agV 
 

��� 
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Section - A 

Answer any two of the following 

 (2 × 13 = 26) 

 Q1) Describe evolution of caste system in vedic culture. 
  Ðóþ§æþ çÜ…çÜP –†ÌZ Mæü$Ë Ð@þÅÐ@þçÜ¦ ç³Ç×êÐ@þ$… Væü$Ç…_ {ÐéÄ¶ý¬Ð@þ¬. 
 

Q2) Describe the administrative system of Sharsha. 
õÙÆ>Û ç³Ç´ëË¯é Ñ«§é¯@þÐ@þ¬¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 

   

Q3) Explain status of women in Mughal rule. 
Ððþ¬VæüÌêÄ¶ý¬Ë M>ËÐ@þ¬ÌZ Ð@þ$íßýâ¶ýË çßZ§é¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 
 

Q4) Describe legacy of British rule. 
{¼sîý‹Ù ç³Ç´ëË¯@þ Äñý¬MæüP ÌñýVæüíÜ¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 

 

Q5) Write a note on Non violence and Satyagraha. 
Aíßý…çÜ Ð@þ$ÇÄ¶ý¬ çÜ™éÅ“VæüçßýÐ@þ¬¯@þ$ Væü*Ça {ÐéÄ¶ý¬Ð@þ¬. 
 

Q6) Explain cultural condition under Satavahana. 
Ô>™èþÐéçßý¯@þ$Ë M>ËÐ@þ¬¯ésìý Ýë…çÜP –†Mæü ç³ÇíÜ¦™èþ$Ë¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 
 

Section – B 

         Write short notes on any three of the following questions (3 × 4 = 12) 
   

Q7) Sufism 
çÜ*íœfÐŒþ$ 

Q8) Buddhism 
»o§æþ®Ð@þ$™èþÐ@þ¬ 



Q9) Satyagraha 
  çÜ™éÅ “VæüçßýÐ@þ¬ 

 

Q10) Raja Ram Mohan Roy. 
Æ>gê Æ>ÐŒþ$ Ððþ*çßý¯Œþ Æ>ÄŒý$ 
 

Q11) Sati system 
  çÜ† Ð@þÅÐ@þçÜ¦ 

 

Q12) Social reforms 
Ýë…íœ$Mæü çÜ…çÜPÆæÿ×ýË$ 
 

Q13) Ishwar Chandra Vidyasagar 
DÔ¶ýÓÆŠÿ ^èþ…{§æþ Ñ§éÅÝëVæüÆŠÿ 
 

Q14) Bhakti movement 
¿¶ýMìü¢ E§æþÅÐ@þ$Ð@þ¬ 

 

   Section – C (3 × 4  = 12) 

 

Q15) Fill in the blanks: 
a) _____ is the holy book of Hindus. 

_____ íßý…§æþ$Ð@þ#Ë ç³Ñ{™èþ “Væü…«§æþÐ@þ¬. 
b) _____  religion was led by Mahavira Swamy 

_____ Ð@þ$™èþÐ@þ¬ Ð@þ$àÒÆæÿ ÝëÓÑ$ §éÓÆ> °ÆæÿÓíßý…^èþºyðþ¯@þ$. 
c) Arthasastra was written by _____ 

AÆæÿ®Ô>çÜˆÐ@þ¬ {ÐéíÜ¯@þ ÐéÆæÿ$ _____ 

d) Child marriage was eradicated by _____ 
»êËË ÑÐéçßýÐ@þ¬ °Ææÿ*ÃÍ…_…¨ _____ 

 

Q16) Choose the correct answer: 
a) The kingdom that arose in Warangal 

i) Pandya ii) Kakatiya 
iii) Chera iv)  Chola 
Ð@þÆæÿ…VæüÌŒý ÌZ ™èþÌñý†¢̄ @þ Æ>fÅÐ@þ¬ H¨? 

i) ´ë…yæþÅ ii) M>Mæü¡Ä¶ý$ 

iii) `Ææÿ iv) ^øâ¶ý  

 



 
b) Ashoka fought the war of 

i) Magadh ii) Kalinga 

iii)   Mahabharat iv) None 
AÔZMæü$yæþ$ H Ä¶ý¬§æþ®Ð@þ¬ ^óþòÜ¯@þ$? 
i) Ð@þ$Væü§æþ ii) Mæüã…Væü 
iii) Ð@þ$à¿êÆæÿ™èþ iv) H¨M>§æþ$ 

c) Indus valley civilization is related to 
i) Harappan ii) Warangal 

iii)   Kalinga iv) Vijayanagar 
íÜ…§æþ$ÌZÄ¶ý$ ¯éVæüÇMæü™èþ §óþ°Mìü çÜ…º…¨…_¯@þ¨? 
i) çßýÆæÿç³µ ii) Ð@þÆæÿ…VæüÌŒý 
iii) Mæüã…Væü iv) ÑfÄ¶ý$¯@þVæüÆæÿ… 

d) Akbar minister was 
i) Todarmal ii) Birbal 
iii) Tenali Ramakrishna iv) Kabir 
AMæü¾ÆŠÿ BÝë¦̄ @þMæüÑ GÐ@þÆæÿ$? 
i) ™öyæþÆæÿÐ@þ$ÌŒý ii)  ¼Ææÿ¾ÌŒý 
iii) ™ðþ¯éÍ Æ>Ð@þ$Mæü–çÙ~ iv)  Mæü½Ææÿ$ 

 

Q17) Match the following 
a) Satyagraha  i)  Vijayanagar 
b) Krishna Deva Roy ii)  Mughal 
c) Razia Sultana  iii) Sultan 
d) Jahangir  iv) Gandhiji 

     v) Delhi 

  a) çÜ™éÅ“VæüçßýÐ@þ¬  i) ÑfÄ¶ý$¯@þVæüÆæÿ… 

  b) Mæü–çÙ~§óþÐ@þÆ>Ä¶ý$  ii) Ððþ¬VæüÌêÄ¶ý¬Ë$ 

  c) ÆæÿhÄ¶ý$ çÜ$Ìê¢̄ é  iii) çÜ$Ìê¢̄ @þ$Ë$ 

  d) fçßý…WÆŠÿ  iv) V>…«©i 

     v) ÉìþÎÏ 

 

���� 
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Total No. of Questions : 12]      [Total No. of Pages : 03 

B.A./B.Sc. DEGREE EXAMINATION, MAY - 2018 

First Year 

MATHEMATICS - I 

Dif. Equ., Abs. Alg & Vec. Calculus 

Time : 3 Hours  Maximum Marks : 70  

Section - A 

Answer all questions, each question carry equal marks 

(8 × 3 = 24) 

 Q1) Solve 22 log
dy

x y x x
dx

+ =  

  
22 log

dy
x y x x

dx
+ =  ° Ýë«̈ …^èþ$Ð@þ¬. 

 

Q2) Solve ( ) ( )1y px p p− − =  

  ( ) ( )1y px p p− − =  ° Ýë«̈ …^èþ$Ð@þ¬. 
   

Q3) Solve ( )3 2 25 8 4 xD D D y e− + − =  

  ( )3 2 25 8 4 xD D D y e− + − =   @̄þ$ Ýë«̈ …^èþ$Ð@þ¬. 
 

Q4) Solve ( )2 1 secD y x+ =  

  ( )2 1 secD y x+ =   @̄þ$ Ýë«̈ …^èþ$Ð@þ¬. 
 

Q5) Let G be a group if a, b ∈  G then prove that (ab)-1 = b-1a-1 

  a, b Ë$ çÜÐ@þÊçßýÐ@þ¬ G ÌZ° Ð@þÊËMæüÐ@þ¬Ë$ AÆÿ¬¯@þ (ab)-1 = b-1a-1 A° °Ææÿ*í³…^èþ…yìþ. 
 

Q6) In the multiplication group { }1, 1, ,G i i= − − , find the order of the each element. 

  Væü×ý¯@þ üçÜÐ@þÊçßýÐ@þ¬ { }1, 1, ,G i i= − −  ¯@þ…§æþ$, {ç³† Ð@þÊËMæüÐ@þ¬ Äñý¬MæüP ™èþÆæÿVæü† Mæü¯@þ$Vö¯@þ$Ð@þ¬. 
 

Q7) If 4 22xz x yφ = − , then find the value of i j k
x y z

φ φ φ∂ ∂ ∂
+ +

∂ ∂ ∂
 at (2, 2,1)−  

4 22xz x yφ = −  AÆÿ¬™óþ (2, 2,1)−  Ð@þ§æþª i j k
x y z

φ φ φ∂ ∂ ∂
+ +

∂ ∂ ∂
 ÑË$Ð@þ¯@þ$ Mæü¯@þ$MøP…yìþ. 



 

 

 

Q8) Prove that . 3
s

r Nds V=∫  

  . 3
s

r Nds V=∫  A° °Ææÿ*í³…^èþ…yìþ. 

 

Section - B 

Answer all questions, each question carries 11½ marks  

     (4 × 11½ = 46) 

 

Q9) a) i) Solve 22 log
dy

x y x x
dx

+ =  ¯@þ$ Ýë«̈ …^èþ…yìþ. 

   ii) Solve ( )( )1 3 22 tan 1 0
dy

x y x y
dx

− − + =  ¯@þ$ Ýë«̈ …^èþ…yìþ. 

OR 

  b) i) Solve 2 32y px y p= +  

    2 32y px y p= +  ¯@þ$ Ýë«̈ …^èþ…yìþ. 

   ii) Solve ( ) ( )1y px p P− − =  ¯@þ$ Ýë«̈ …^èþ…yìþ. 

 

Q10) a) i) Solve ( )2 23 2 sinxD D y e x− =  

    ( )2 23 2 sinxD D y e x− =  ¯@þ$ Ýë«̈ …^èþ…yìþ. 

   ii) Solve 
3 2

2

3 2
3 2

d y d y dy
x

dx dx dx
+ + =  

    
3 2

2

3 2
3 2

d y d y dy
x

dx dx dx
+ + =  ¯@þ$ Ýë«̈ …^èþ…yìþ. 

OR 

  b) i) Solve ( )2 2 24 4 sin 3xD D y x x e− + = + +  

    ( )2 2 24 4 sin 3xD D y x x e− + = + +  ¯@þ$ Ýë«̈ …^èþ…yìþ. 



   ii) Solve ( )2 4 sinD y x x+ =  

    ( )2 4 sinD y x x+ =  ¯@þ$ Ýë«̈ …^èþ…yìþ. 

 

Q11) a) i) Find the g.c.d. of 42823 and 6409 and express it in the form of     
    42823 6409x y+   

    42823, 6409 Ë Væü.Ýë.¿ê¯@þ$ Mæü¯@þ$Vö° §é°° 42823 6409x y+  Ææÿ*ç³…ÌZ {ÐéÄ¶ý$…yìþ. 
   ii) State and  prove Wilson’s theorem.  
    ÑËÞ̄ Œþ íÜ§é®…™èþÐ@þ¬¯@þ$ {ç³Ð@þ_…_, °Ææÿ*í³…^èþ…yìþ. 

OR 
  b) i) Prove the set Q of rational numbers other than 1, with operation ⊕ such that   
    ,a b a b ab a b Q⊗ = + − ∀ ∈  is an abelian group. 

    AMæüÆæÿ×îýÄ¶ý$ çÜ…QÅ çÜÑ$† Q ÌZ JMæüsìý ™èþç³µ Ñ$WÍ¯@þ Ð@þÊËM>Ë$ ⊕  A¯óþ {ç³“MìüÄ¶ý$¯@þ$  
    ,a b a b ab a b Q⊗ = + − ∀ ∈  AÄôý$Årr$ÏV> °ÆæÿÓ_õÜ¢ B çÜÑ$† Ñ°Ð@þ$Ä¶ý$ çÜÐ@þÊçßýÐ@þ$°  
    ^èþ*ç³…yìþ. 
    

   ii) State and prove Lagrange’s theorem.  
    Ìê“Vðü…gŒý íÜ§é®…™èþÐ@þ¬¯@þ$ {ç³Ð@þ_…_, °Ææÿ*í³…^èþ…yìþ. 
 
Q12) a) i) Prove that curl r = 0  

    curl r = 0  A° °Ææÿ*í³…^èþ…yìþ. 

   ii) Verify Green’s theorem in the plane for ( ) ( )2 23 8 4 6
c

x y dx y xy dy- + -òÑ  where 

    C is the region bounded by y x=   and  2y x=   
 

  y x=
 
Ð@þ$ÇÄ¶ý¬ 2y x=  çÜÇçßý§æþ$ªË$V> VæüË {́ ë…™èþÐ@þ¬ C AÆÿ¬™óþ      

  ( ) ( )2 23 8 4 6
c

x y dx y xy dy- + -òÑ  ™èþÌê°Mìü “X¯ŒþÞ íÜ§é®…™èþ… çÜÇ^èþ*ç³…yìþ. 

OR 
  b) i) Find the greatest value of the directional derivative of the functions  2 3f x yz=    

    at (2,1, 1)−  

    (2,1, 1)−  Ð@þ§æþª {ç³Ðóþ$Ä¶ý$… 2 3f x yz= ¨Ô> °ÆóÿªÔ¶ýç³# A«̈ Mæü ÑË$Ð@þ¯@þ$ Mæü¯@þ$MøP…yìþ. 
    
   ii) State and prove “Gauss Diversene theorem” . 
    Vú‹Ü Aç³çÜÆæÿ×ý íÜ§é®…™é°² {ç³Ð@þ_…_, °Ææÿ*í³…^èþ…yìþ. 
 
 

���� 
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Total No. of Questions : 21]        [Total No. of Pages : 02 

B.Sc. DEGREE EXAMINATION, MAY – 2018 

First Year 

COMPUTER SCIENCE – I 

PC Software & Programming in C 

Time : 3 Hours                                                           Maximum Marks :70 

     SECTION - A  

Answer any three of the following questions.  

(3 × 16 = 48) 
        

Q1) Explain various primary and secondary memories. 
 
Q2)  What is macro? How to create a macro? 
 
Q3)  Explain about Relational Data Bases with example.  
 

Q4) Explain different flow of control in C. 
 
Q5)  Explain Bitwise operators and Enumeration types.  
 

SECTION - B 

Answer any four questions.  

(4 × 3 = 12) 
 
Q6)  Explain different DOS commands. 
 
Q7) Explain operating systems. 
 
Q8) Explain Tool Bar in MS Power Point.  
 
Q9) Explain Mathematical functions in Excel. 
 
Q10) Explain about storage classes in C. 
    
Q11) Draw a table for Bitwise operators.  



  



SECTION - C 

Answer all questions.  

(10 × 1 = 10) 
  
Q12) Define computer. 
 
Q13) What is Recycle Bin. 
 
Q14) What is Header. 
 
Q15) Slide Numbering. 
 
Q16) What is Form in MS Access. 
 
Q17) What is Linking in MS Excel. 
    
Q18) What is pointers. 
 
Q19) What is union. 
 
Q20) Write I/O operators on Files in C. 
    
Q21) What is data types in C.  

   
 
 

���� 
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Total No. of Questions : 9]      [Total No. of Pages : 04 

B.A./B.SC. DEGREE EXAMINATION, MAY – 2018 

(Examination at the End of First Year) 

First Year 

Statistics – Paper - I : PROBABILITY & DISTRIBUTION (Part - II) 

Time : 3 Hours  Maximum Marks : 70  

Section - A 

Answer any four questions 

(4 × 10 = 40) 

Q1) a) Define Mean, Median and Mode and write their merits and demerits 
   A…MæüÐ@þ$«§æþÅÐ@þ$Ð@þ¬, Ñ$yìþÄ¶ý$¯Œþ Ð@þ$ÇÄ¶ý¬ Ððþ*yŠþ¯@þ$ ÑÐ@þÇ…_, Ðésìý Ë„æü×êË$ Ð@þ$ÇÄ¶ý¬ AÐ@þË„æü×êË¯@þ$ 

{ÐéÄ¶ý¬Ð@þ¬. 
  b) Calculate Median to the following data. 
   Class interval   20-30  30-40  40-50  50-60      60-70 
   ™èþÆæÿVæü† 

   Frequency    3    5   20   10    5  
   ¸û¯@þ]ç³#×ýÅÐ@þ¬ 
   Oò³¯@þ C_ā @þ §æþ™é¢…Ô>°Mìü Median Mæü¯@þ$Vö¯@þ$Ð@þ¬. 
 
Q2) a) State the prove “additional theorem” for 2 events A & B 
   A & B  A¯@þ$ Æðÿ…yæþ$ A…Ô>ËOò³¯@þ GyìþçÙ¯@þÌŒý ¡ÆæÿÐŒþ$¯@þ$ {ç³Ð@þ_…_ °ÆæÿÓ_…ç³#Ð@þ¬. 
  b) Compute the first four central moments to the following data 
   Ððþ¬§æþsìý ¯éË$Væü$ Móü…{©Ä¶ý$ çœ*†MæüË¯@þ$ “Mìü…¨ C_ā @þ §æþ™é¢…Ô>°Mìü Mæü¯@þ$Vö¯@þ$Ð@þ¬. 
   Class interval   0-10  10-20  20-30  30-40  40-50  50-60  60-70 
   ™èþÆæÿVæü† 

   Frequency   2    8    12    40    20    15     3     
   ¸û¯@þ]ç³#×ýÅÐ@þ¬ 
Q3) a) Define the following 

i) Sample space 
ii) Event 
iii) Probability 
iv) Conditional probability 
v) Random experiment 

   “Mìü…¨ Ðésìý° ÑÐ@þÇ…ç³#Ð@þ¬ 
i) õÜ…í³ÌŒý õÜµ‹Ü 
ii) çœ$r¯@þË$ 
iii) çÜ…¿êÐ@þÅ™èþ 
iv) ç³ÆæÿçÜµÆæÿ ÑÐ@þÇj™èþ çœ$r¯@þË$ 



v) Ä¶ý*§æþ–_eMæü {ç³Äñý*VæüÐ@þ¬. 

  b) A class consists of 6 girls and 10 boys. If a committee of ‘3’ is chosen at random From 
the class, find the probability that 

       i)   3 boys are selected 

       ii)   Exactly 2 girls are selected 

   JMæü ™èþÆæÿVæü†ÌZ 6 Ð@þ$…¨ AÐ@þ*ÃÆÿ¬Ë$, 10 Ð@þ$…¨ A»ê¾Æÿ¬Ë$ E¯é²Ææÿ$. ™èþÆæÿVæü† ¯@þ$…_ Ð@þ¬VæüYÆæÿ$° Ä¶ý*«§æþ–
_eMæü…V> ¡çÜ$Mæü$° MæüÒ$sìýV> HÆ>µr$ ^óþÔ>Ææÿ$. AÆÿ¬™óþ D “Mìü…¨ ÐésìýMìü çÜ…¿êÐ@þÅ™èþ¯@þ$ Mæü¯@þ$Vö¯@þ$Ð@þ¬  

i) Ð@þ¬Væü$YÆæÿ$ A»ê¾Æÿ¬Ë$ AÆÿ¬™óþ 
ii) Q_a™èþ…V> C§æþªÆæÿ$ AÐ@þ*ÃÆÿ¬Ë$ AÆÿ¬¯@þç³šyæþ$. 

 

Q4) a) Define Random variable? Explain different types of probability distribution functions 
of R.V and their properties. 

   Ä¶ý*«§æþ–_eMæü ^èþËÆ>Õ° °ÆæÿÓ_…ç³#Ð@þ¬. Ä¶ý*«§æþ–_eMæü ^èþËÆ>Õ Äñý¬MæüP Ñ¿êf¯é {ç³Ðóþ$Ä¶ý*°² °ÆæÿÓ_…_ 
Ðésìý «§æþÆ>ÃË¯@þ$ ™ðþË$µÐ@þ¬. 

  b) A continuous Random variable ‘X’ has the following p.d.f.  

   
2(1 ); 0 1

( )
0 ;

k x x
f x

otherwise

 − < <
= 


 

   Find i) K ii) Mean iii) Variance 

   ‘X’ A¯óþ¨ D “Mìü…¨ ™ðþÍµ̄ @þ çÜ…¿êÐ@þÅ™é Ýë…{§æþ™é {ç³Ðóþ$Ä¶ý*°² MæüÍȲ @þ JMæü AÑ_ē @þ² Ä¶ý*«§æþ–_eMæü ^èþËÆ>Õ 
AÆÿ¬¯@þ 

   
2(1 ); 0 1

( )
0 ;

k x x
f x

otherwise

 − < <
= 


 

i) k ÑË$Ð@þ¯@þ$  ii)   A…MæüÐ@þ$«§æþÅÐ@þ$Ð@þ¬ iii)   ÑçÜ¢ –™èþ$Ë¯@þ$ Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

 

Q5) a) Let ‘X’ be a Random variable with the probability function 

   x    0    1    2   3 

   f(x)  1/3  1/2 1/24  1/8 

   Find the expected value of y = (x-1)2 

   X A¯óþ¨ AÑ_ē @þ² Ä¶ý*«§æþ–_eMæü ^èþËÆ>Õ AÆÿ¬¯@þ Oò³¯@þ C_ā @þ §æþ™é¢…Ô>°Mìü Ä¶ý*«§æþ–_eMæü ^èþËÆ>Õ 
A…^èþ¯éË¯@þ$ y = (x-1)2Mæü$ Mæü¯@þ$Vö¯@þ$Ð@þ¬ 

  b) Define cumulant generating function and write the formulas of mean and variance in 
cumulants. 

   cumulant generating function ¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬ Ð@þ$ÇÄ¶ý¬ A…MæüÐ@þ$«§æþÅÐ@þ$Ð@þ¬ Ð@þ$ÇÄ¶ý¬     ÑçÜ¢ –
™èþ$Ë Äñý¬MæüP çÜ*{™èþÐ@þ¬Ë¯@þ$ cumulants ÌZ {ÐéÄ¶ý¬Ð@þ¬ 

 

 



Q6) a) Define binomial distribution? And also define characteristics function, cumulant 
generating function by using binomial distribution 

   ¨Óç³§æþ Ñ¿êf¯@þÐ@þ¬¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬? characteristics function, cumulant generating 
{ç³Ðóþ$Ä¶ý$Ð@þ¬¯@þ$ ¨Óç³§æþ Ñ¿êf¯@þÐ@þ¬¯@þ$ Eç³Äñý*W…_ ÑÐ@þÇ…ç³#Ð@þ¬. 

  b) The mean and variance of Binomial distribution are 4 & 
4

3
 respectively. Find 

( 1)P x ≥  

   ¨Óç³§æþ Ñ¿êf¯@þÐ@þ¬ Äñý¬MæüP A…MæüÐ@þ$«§æþÅÐ@þ$Ð@þ¬ Ð@þ$ÇÄ¶ý¬ ÑçÜ¢ –™èþ$Ë$ 4 Ð@þ$ÇÄ¶ý¬ 
4

3
 Ð@þÆæÿ$çÜV> AÆÿ¬™óþ 

( 1)P x ≥ ¯@þ$ Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

 

Q7) a) Define hyper geometric distribution and obtain its mean and variance? 

   Oòßýç³ÆŠÿ gêÓÑ$¡Ä¶ý$ Ñ¿êf¯@þ… °ÆæÿÓ_…_, §é° A…MæüÐ@þ$«§æþÅÐ@þ$Ð@þ¬ Ð@þ$ÇÄ¶ý¬ ÑçÜ¢ –™èþ$Ë¯@þ$ 
Mæü¯@þ$Vö¯@þ$Ð@þ¬? 

  b) The moment generating function of a random variable ‘X’ is 
5

2 1

3 3
te

 + 
 

 find the 

distribution, mean and variance 

   ‘X’ A¯óþ Ä¶ý*«§æþ–_eMæü ^èþËÆ>ÕMìü m.g.f. 
5

2 1

3 3
te

 + 
 

 AÆÿ¬™óþ A…MæüÐ@þ$«§æþÅÐ@þ$Ð@þ¬ Ð@þ$ÇÄ¶ý¬       ÑçÜ¢ –

™èþ$Ë¯@þ$ Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

 

 

Q8) a) Define Gamma distribution and obtain its mean and variance? 

   V>Ð@þ* Ñ¿êf¯@þÐ@þ$Ð@þ¬¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬ Ð@þ$ÇÄ¶ý¬ ©° Äñý¬MæüP A…MæüÐ@þ$«§æþÅÐ@þ$Ð@þ¬ Ð@þ$ÇÄ¶ý¬       ÑçÜˆ–
™èþ$Ë¯@þ$ Mæü¯@þ$Vö¯@þ$Ð@þ¬? 

  b) If ‘X’ is normally distributed with mean ‘12’ and standard deviation ‘3’. Find the 
following probabilities. 

   ‘X’Mæü$ A…MæüÐ@þ$«§æþÅÐ@þ$Ð@þ¬ 12,  standard deviation ‘3’ ^óþ ÝëÐ@þ*¯@þÅ Ñ¿êf @̄þÐ@þ¬ ^óþõÜ¢ “Mìü…¨ Ðésìý° 
Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

i) P(x>15) 
ii) P(x<6) 
iii) P(10<x<14) 

 
 
  



 
 
 

Section - B 

Answer all the following questions 

     (10 × 3 = 30) 

Q9) a) The first four moments of a distribution about the value ‘4’ of a variable are 1, 4, 10, 
45. Find first four moments about mean? 

   ^èþËÆ>Õ ÑË$Ð@þ ‘4’ AÆÿ¬¯@þç³šyæþ$ Ððþ¬§æþsìý ¯éË$Væü$ çœ*†MæüË$ 1, 4, 10, 45 AÆÿ¬™óþ Ððþ¬§æþsìý ¯éË$Væü$ 
çœ*†MæüË¯@þ$ A…MæüÐ@þ$«§æþÅÐ@þ$Ð@þ¬ Væü$…yé Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

  b) Give the various measure of skewness 

   ÑÑ«§æþ AÝëçÙ®Ð@þ™é Væü$×ýM>Ë¯@þ$ ™ðþË$µÐ@þ¬. 

  c) Explain various definitions of probability. 

   çÜ…¿êÐ@þÅ™èþ¯@þ$ A¯óþMæü Ñ«§æþÐ@þ¬Ë$V> ÑÐ@þÇ…ç³#Ð@þ¬. 

  d) Write down Cauchy-schwartz in equality? 

   Cauchy-schwartz AçÜÐ@þ*¯@þ™èþ¯@þ$ {ÐéÄ¶ý¬Ð@þ¬. 

  e) Define moment generating function and explain its properties 

   m.g.f. ¯@þ$ ÑÐ@þÇ…_ Ðésìý «§æþÆ>ÃË¯@þ$ {ÐéÄ¶ý¬Ð@þ¬? 

  f) If X and Y are two radom variables, then S.T. E(ax+by) = aE(x)+bE(y) 

   X  Ð@þ$ÇÄ¶ý¬ Y Ë$ Ä¶ý*«§æþ–_eMæü ^èþËÆ>Ô¶ý$Ë$ AÆÿ¬™óþ  E(ax+by) = aE(x)+bE(y) 

  g) Write the recurrence relation for probability of poisson distribution 

   ´ëÆÿ¬f¯Œþ Ñ¿êf¯@þÐ@þ¬ Äñý¬MæüP çÜ…¿êÐ@þÅ™èþMæü$ ç³#¯@þÆ>Ð@þ–† çÜ…º…«§æþÐ@þ¬¯@þ$ {ÐéÄ¶ý¬Ð@þ¬. 

  h) Show that Q.D, M.D and S.D are in the ratio 10:12:15 in a normal distribution 

   ÝëÐ@þ*¯@þÅ Ñ¿êf¯@þÐ@þ¬ ¯@þ…§æþ$ Q.D, M.D Ð@þ$ÇÄ¶ý¬ S.D Ë$ 10:12:15 °çÙµ†¢ÌZ E…yæþÐ@þ° 
°Ææÿ*í³…^èþ$Ð@þ¬. 

  i) Write the statement of central limit theorem? 

   Móü…{§æþ ç³ÇÑ$† íÜ§é®…™èþÐ@þ¬ Äñý¬MæüP õÜtsŒýÐðþ$…sŒý {ÐéÄ¶ý¬Ð@þ¬. 

  j) Show that v(ax+b) =  a2v(x) 

   v(ax+b) =  a2v(x) ¯@þ$ °Ææÿ*í³…^èþ$Ð@þ¬ 
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